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Reg. No.

I Semester B.Sc./B.C.A/B.Sc.(FAD)/B.VA., Degree Examination,
May/June - 2022
GENERIC ENGLISH -
Language English -I (LINGUA FRANCA-I)
(NEP CBCS Semester Scheme)
Time : 2%; Hours Maximum Marks : 60
Instructions: 1) Read all the instructions carefully and answer the questions.
2) Wkite the question number correctly.

SECTION - A
(Workbook)
I.  Read the following passage and answer the questions set on it: (5x1=5)

The HCQ (Hydroxychloroquine story begins in 1638 when the wife of the Viceroy of
Peru, Countess Cinchona, acquired malaria whilé living in the New World. Rather than
getting the “approved” therapy - blood-letting, she was treated by an Incanherbalist with
the bark of a tree (eventually, named the countess-Cinchona Tree). Her response was
dramatic; when the Viceroy returned to Spain, he brought with him large supplies of the
powder for general use, which at the time was controlled by the Church and was thus
called “Jesuit’s Powder”.It took nearly two centuries for the active substance, Quinine,
to be isolated from the bark (and was eventually made a name for itself as 2 tonic to be
added to gin). Over the next century, quinine would become a common component in
flock medicines and patent remedies for the treatment of malaria in the southern states of
America, as well as for generic malaise. By the 1940s, quinine, or, rather its derivative
chloroquine, was recognized for its anti-malarial properties and found use among troops
fighting in the Pacific during World War-II. However, it was noted that this compound had
significant toxicities. In 1945, a modification of this compound via hydroxylation led to
the development of HCQ, which was found to be less toxic and remains in use, without
change, to this day. Hydroxychloroquine treats rheumatic disorders such as systemic
lupus erythematosus, rheumatoid arthritis, and porphyria cutaneatarda, and certain
infections such as Q fever and certain types of malaria. It is considered the first-line
treatment for systemic lupuserythematosus. Certain types of malaria, resistant strains,
and complicated cases require different or additional medication. The medicine is widely
used to treat primary Sjo6gren syndrome but does not appear to be effective.
Hydroxychloroquine is widely used in the treatment of post-Lymearthritis.
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It may have both an anti-spirochete activity and an anti-inflammatory activity, similat to
the treatment of rheumatoid arthritis.

L.
2.
R

4.
3.

Who treated Countess Cinchona?
How was the response of Countess Cinchona to the treatment?

Name the common/component/ in flok medicines and patent remedies for the
treatment of malaria.

is used in the treatment of post-Lymearthritis.
What led to the development of Hydroxychloroquine?

II. Study the following graph on the use of electrical gadgets and interpret it. (1x5=5)

Jlectuiealoadeets Usape

= mobile
= ecomputers

® taptop
III. Answer the following question. (1x5=5)
1. Describe i types-§iiasreinag ne aparagrapu.
(OR)
&:  Explain the differences between hearing and listening.
IV. Do as directed (5x2=10)
1. Introduce yourself to your Principal as a parent.
2. Request your class teacher to consider one of your friends as a volunteer for the
NSS Special Camp.
Express your words of congratulations to your teacher on the awardof Ph.D.
4. Enquire at the stationery shop for practical Record books.

Seek permission from your mother to participate in the trekking camp.
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V. 1. Give instructions to your sister on how to get a Toll pass. : (1x3=3)

2.  Give directions to your brother to go to ‘Heritage High School’ from Central Bus
Station’. (1x2=2)

Fourlis Ave.

First Ave

: Base St.

Edgehill Rd.

VI. Do as directed:
1. Frame questions as directed i (3x1=3)
a) The medicine is widely used to treat primary measles. (into Wh/h questions)
b) The Viceroy returned to Spain. (into Yes/NO Question)
)i T weﬁt to_college yesterday. (into Wh?h Questions)
2. Add suitable question tage to the following senténées. (2x1=2)
a) Lab examinations are advanced by a week.

b) Renuka did not have a project to work on inter&isciplinary studies

3. Fill in the blanks with suitable options given in the brackets. (3><1=3).
a) An abacus _ (is/were) an ancient device that is used for arithmetic
calculations.
b) “Fire inch-sticks” (is/are) found in all parts of China.
¢) Furniture __(has/is) made of wood. |
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4.

Use the correct form of the word given in brackets and fill the blanks. (2x1=2)

a) Money gives us a sense of security . But itis a tough task (into a verb).
b) Her voice is melodious. Her impressed the audience (into a noun.)
SECTION - B

(COURSE BOOK)

VII Answer any FIVE of the following in a word or a phrase or a sentence: (5x1=5)

1.  What does the poet tire of hearing in the poem ‘Democracy’?
2. In ‘Farewell Address at Chicago’, Obama says remains a potent and often
divisive force in our society.
3. What did the report say about the.Unknown Citizen?
4. Ramesha is in ‘The Golden Dream’.
5. What defect has the General in the powerful tank?
6. Name the defect in the bomber in the poem ‘From a German War Primer’
T .What is Free Speech according to Sarukkai?
VIII Answer any ONE of the following in about a page: ; (1x5=5)
1. Inthepoem ‘Democracy’, the poet calls for a change. What is the chaﬁge he wants o
bring and how? :
2. ‘Freedom does not come W;th compromise and fear’, Substantiate it.
3. How does society evaluate modern man in the poem “The Unknown Citizen?
IX Answer any ONE of the following in- about two pages: (1x10=10)
1. Commenton Obama’s speech. '
2. . Explain the theme in ‘Democracy’.
3.  Discuss the significance of “Hatthur and its bus stop’.
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. ® Reg. No.

I Semester B.C.A/B.H.M. & Other Course Degree Examination, May/June - 2022
LANGUAGE SANSKRIT

Sankshépa Ramayana (Balakanda) of Valmiki 1st Sarga Grammar &
Comprehension

(CBCS Scheme NEP Freshers 2021-22 and Onwards)
Paper -1

Time : 25 Hours Maximum Marks : 60
Instructions to Candidates:- 1)  Answer in Sanskrit/ Kannada/ English.

2) Question No.I, V, and VI should be answered
in Sanskrit only.

I e s fga | | | L(10x1=10)
pfslessrta wgdwsad 202 2080200,
Select and write the correct answer.

1) awditeh: & afooes?

) TE W ey Paws 0 PRy
2) i s @ 39 e

%) sl ) wggea - ) omwwmE %) amfe
3) GEREH: @7 |

' ) ofvm: ) A 3w =

4) g st 02

) T 3) ToT: 3) Tha: 3) ard=:
5) WA Wl P

| 37) W an) g 3) el 3) @

6) TEUL: W AU ? |

a) wef 3) et 3) Ty 3) s
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3) e 3m) aRs: 3) Y
8) <HEwE ga e '
- 3) v ) gt . 3) R
9) anfewla: =:? A
) = ) WA g) AeHiR
10) vyoren ¥ Rrsfar? 4
1) WA : 3T) WA 3) WA

II. &t yeaeau sw el

"AECC05.2
%) Tiam:
%) e
%) wiforqra:
§) v
(2x8=16)

CIRPYTRTAR TR TFNRTRY, OB T[OTRZ TS YLSTHERY, 2T0W0.

Write an essay on any two of the following :
1) e g o g el

TOEI00PERE  BF D), OB TWOF 2TOWO.

Write about the Author of Ramayana.
2) IwuTmmEE el el
668%330(‘2565 THODTZY, DWOA.
-Narrate the story of Aranya Kandam.
3) arrich: THEU Wd: TR SEA g

w9 ToRPONRTY SPATHTWOZ Toz BITRG, STHRIHT.

Rama's departure to the forest as depicted in Ramayana of Valmiki.

I =emon veitemi e s Reuml
C3RFHmETR TRy BLLINTRY, WRTRRA DT
Translate and explain any Three shlokas.
1) WsalER A T UEH_ 9 dEan]
Y T Aeeare geda:||
2) i we aee e = gerl
S e AR

(3x3=9)
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3) =W e 9 SmEgeEE|
gt S Semromil
P e e Tod T

| S & SR THIIETEE: ||

e g, wEei Sgev|

ﬁ Tlcael Sy e shiemiEsa: i

V.

4

5)

g €M &gl
BRJ)TWER TR méﬁm"ab‘z TOWPF T2 N0

1)
2)
3)
4)

- Annotate any Two of the following.

far Sfacieea ge aitema

- e T SR -SEEe|

Rrgrmer g WE ge Bl
T g WA i T Rrafga:)

wega wan W fereml
ﬁoﬁﬁs FFoHY vId2.

)

)

" Answer in Sanskrit

g Ry forem) (T=ame)

1)
3)
)
7

W)
Wi
Eil
- {

TER-FER-Te foreml (aguida)

1)
3)
5)
7)

qAq|
eS|
S|
shifesam:

2)
4)
6)
§)

2)
4)
6)
8)

TR

ESEIGY

T =

qeaTty|
G EEIG)(

AECC05.2

(2%3=6)

(5x1=5)

(4x1=4)

[P.T.O.
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VL. ufiesghe ufswn svamgoe _ (5%2=10)
TeHtee Rad vian: A Wy o e, SN, grEeie See e ] we S S8R

TR TR WG W: WY, YT | Ty WRife eagy| i g Eut: Teew: HaR: | HEReRH
 fomn oragE wet TitRTest e TRt s e e s g ) i g geeien
TemtRutta: S 3N Aol Fve ger Y: SIEnY SR 05 Tad RIS e TesyET)
: goiseaal '
m;l
1) wwiiem: & & suvaa?
2) el A AEgE Sftrest ?
3) el v & e
4) oA Taw: EEREETER 2
5) viam: for envwer?
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Reg. No.

I Semester B.C.A./B.Voc. IT Degree Examination, May/June - 2022

TIE PR
neas R0y - 1
(NEP Scheme Freshers)
Paper : 1 :
Time : 2%; Hours Maximum Marks : 60
L 3 39N clnsoonide 0w Fnen ey wg s, sugos. (5x2=10)

1)
2)
3)
4)
3)
6)
7)
8)

1)
2)
3)
4)
5)
6)

TR NE =oong mrj\ wocéodas T AT 7

OTO0, xo:s@@ ROWTERD 2

BEI3NHd zaaaioi:s% Tery WHATTIO ?

20T, TR, PR CINTd FOQTWTO ?
RRT3RODN R Jen 88,0008 T30 7
5§§)n’@ﬁ HACONYRY, aert QETT 7

TIB) WBROT YN SRR 2

x@@eréﬂa&; BS030% 3R ?

PN odne)Tsansde WL, BINIR B WOTNTY, CUZOA. (4x5=20)

-0

R0z, 30d BT IR 03T ?
2303, F0WD R BB BBCDHFe 9
R0, BRBETY, WRBS ToDINL 20T, ?
R0F), CIPRT IS i, SR

democﬁa@& RRETVRTS wj" BIWOTTRT LO[NSCT ?
LERTED B0 F0T Iesodng RosuE S9A. '
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L 33 36NS CIReymREte S0@ DEReR S0R PUNeQ, eugon. (2x10=20)
1) %’Q{técs’ @@%&?@ pitielnlefe] cg)c?&odo@ﬂ 03 DeSCNTINT 2 LD,
2) ‘BPR0onEd’ BB ND.2C. 5T VLO[YNSEID ? WO
3) ‘oeomE] FRded wIadhnded ?
4) =P D, B[RO LREIZ BRTD 7 D[TTN SRR
IV. 23 39AT C3RRTOTTR TR @%ﬁ@ﬁ R WWFNFY, G0Z0A. (Wi TY) (2x5=10)
1) %m&ﬁé, WRLRATING wrj\ D=0
2) Qm@%%_:?\;ljwa wj\ FeDBTO SPATIZ VTNV 2
3) 1986 09 SE3 Fond CIRWT ? ©T0 TOEOBIRER 2
4) SRLNT Wi TOIWA.
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Reg. No.

- I Semester B.C.A. (Odd) Degree Examination, May/June - 2022

COMPUTER SCIENCE
Digital Fluency
(NEP Scheme)
Time : 1% Hours Maximum Marks : 30
Instructions to Candidates:
Answer all Parts.
PART - A
Answer any Five questions. Each question carries 2 marks. (5x2=10)

1. Define operating system. Give any two examples.
2.  Name different office automation tools.
3. What is the purpose of spread sheet?
4. Define the terms.
a) Gateway.
b) IOT.
S.  What is malware? Mention any two malwares.
6. Whatisan antivirus‘é ,
7.  Define the tenﬁs :
a) Database.
b) DBMS.

8.  What is meant by digital foot print?

[PT.O.
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10.

11.
12.

13.
14.

PART - B

Answer any Four questions. Each question carries 5 marks.

Explain different office automation tools.

a) Differentiate between HTTP and HTTPs.

b) Write a note on types of networks.

Write a note on hackers and crackers.

Write a note on any two types of networking devices.
a) MODEM. |

b) Ethernet card.

c) Hub.

Diécuss various E-learning platforms.

Mention the steps to create google questionnaires.

SEDF101

(4x5=20)
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Time : 2> Hours

DCCA103

Reg. No.

I Semester B.C.A. Degree Examination, May/June - 2022

COMPUTER SCIENCE
Data Structure
(NEP Scheme 2021)
Paper : CA-C3T

Instructions to Candidates : Answer all Sections.

IX

1))
2)
3)
4)

s,

6)

Answer any Four questions. Each question carries Five marks.

7)
8)
9)
10)
11)
12)

SECTION - A

. - Answer any Four questions. Each question carries Two marks.

Define Abstract Data Type.
What is sparse matrix?

Define Linked list.

Define

a) Directed graph

b)  Weighted graph.

Uﬁﬁﬂﬁﬂiﬂamﬂsa@‘&}l.
Define Hashing.

N

SECTION -B

Explain traversal of singly linked list

Explain circular queue with example.

Write an algorithm for_inserting values in circular queue.
Define Binary search Tree. Give example.

Explain Linear Search algorithm .

Explain Topological sorting.

MaximUm Marks : 60

(4%2=8)

(4%5=20)

P.T.O.
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éECTION -C
II.  Answer any Four questions. Each question carries Eight marks (4%x8=32)
13) a) Explainthe different types of data Structures. | 4)
| b)  Write a note on Asymptotic notations. (4)
14) a) Ewvaluate Postfix expression. Show step clearly 6, 5, 3, +, *, 12,3, /, - (4)
b)  Write algorithms for |
i) Push
i1)  Pop operations for stack (4)
15) What is Recursion ? Write an algorithm for tower of Hanoi Problem. ®)
16) Write short notes on : (8)
a) Lexicographic Search Trees
b) B-Trees.
17) a) Define Sorting (2)
b)  Write a C Program to sort an array using insertion sort technique. (6)
18) Explain hasﬁing techniques and techniques for collision resolutién. 8)
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Reg. No.

I Semester B.C.A. Degree Examination, May/June- 2022 .
COMPUTER SCIENCE
Problem Solving Techniques
(NEP Scheme)
Paper : CA-C2T

Time : 2% Hours Maximum MarkS' : 60

Instructions to Candidates : 1.  Answer any Four questions from each part,

I.

II.

5)

- 9)

2.  Answer All Parts

PART- A

Answer any Four questions, each carries Two marks. (4%2=8)
1) Whatis an Algdrithm 7 Gi{fe one of-its advantage.
2) 'beﬁne Asymptotic notation List any two. '
3) - Write the basic structure of C program.
4)  What is on array? Write the statements to print the elements of an array.
What is hash search ?
6) Mention any two differences between linear search and binary search.
' PART -B
Answer any Four questions each carries Five marks. : (4x5=240)
7) Differéntiate between while and do-while loop. Illustrate with example.
S)A Write a program té find whether a given number is prime number or not.
Example bitwise opérators in C with suitable examples.
10) Write a C program to compute GCD of two _integeré. Use a function to compute
GCD : :
11) Write an algorithm for selection sort. Illustrate with an example.
12) Explain two way merge with example. |

[P.T.O.
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PART - C
III. Answer any Four questions each carries Eight marks _ (4%8=32)

13) Explain the different data types supported by C language Mention their range and
size. '
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Reg. No.

I Semester B.C.A. Degree Examination, May/June - 2022
COMPUTER SCIENCE (Open Elective)

Journey into Fundamentals and C Programming Conceptsi
(NEP Scheme - 2021 Onwards) .

Time : 2% Hours ' Maximum Marks : 60
Instructions to Candidates:
Answer any four questions from each part.

PART - A

Answer any Four questions. Each question carries 2 marks. (4x2=8)

1. What is meant by Hardware and software?
2.  Define the terms computer virus and antivirus.
3.  What is binary number system?
4.  Convert (45),=(),?
5. List the different types of operators in-C.
6. List two differences between variable and constant.
PART - B
Answér_ any Four questions. Each question carries S marks. (4x5=20)
Bring out the differences Assembler, interpreter and compiler. 5)
a. Define Algoritham and flowchart. ‘ ke @)
b. Draw the different symbols of flowchart. ' 3)
9. Whatis _meant by number system and explain different types of number systems. (5)
10. What are the steps involved to add/remove a file/folder using control panel. 5)
11. Write a short note on C-tokens. o)

12. Define if statement and explain the various forms of if statement with syntax and example.

(3)

[P.T.O.
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13.
14.

15.
16.
17.
18.

< PART - C

Answer any Four questions. Each question carries 8 marks.

Explain about various, categories of computer languages with examples.

Convert the following :

a. (10110110),=( ), and (),

b (7A), =(),and (),

Define operating system and explain the features of operating system.
Explain the applications of windows in detail.

Explain the different data types available in C.

(4x8=32)
®

@)
@
®)
®)
®)

What is meant by loop and explain the different looping statements available in

C-programing.

®
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Reg. No.

I Semester B.Sc. Degree Examination, May/June - 2022
CORPORATE MATHEMATICS
(NEP Scheme 2_021-2022 and Onwards) (Open Elective)

Paper : L
Time : 2% Hours Maximum Marks : 60
Instructions to Candidates:
Answer All the questions.
L  AnsweranySix. (6x2=12)

1. Solve for x:£+-2i=1

5
2. Sumoftwo coﬁsecutive integers is 39. Find the numbers.

3. Factorize: x> -3x—-4=0.

4. Solve: x—y=2, 2x+ y =4 by substitution method.

5.  Explain with example cumulative frequency.

6.  Define Arithmetic mean of a set of observations and mention two of its merits.
7. Findthe median for the following data 5, 9, 5, 6,1,4,10,8.

8. If mean and coefficient of variation of a distribution are 56 and 75% respectively.
Find the standard deviation.

9. What is Histogram? Mention its significance.

10. ‘ Define linear programming problem.

[P.T.O.
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Il.  Answerany Three. _ (3%x4=12)
1. Solvefor 220 2ot
x+7 x-2
12. Solve for x and y by Rule of cross Multiplication (RCM) :

13.

14.

15.

16.

Sx+2y=28
9x-5y=23"
Solve for x using Sridharacharya method 8x* —-22x-21=0.

Following are the marks obtained by the students in a certain test. Prepare a frequency
distributicn: with an interval 10 marks each as [10-19], [20-29], ....., [60-69].

37,49, 54, 51, 37, 15, 12, 33, 23, 25
18, 35, 33, 42, 45, 55, 69, 63, 46, 29
18, 37, 46, 59, 29, 35, 27, 45, 47, 65.

A company produces two articles A and B. There are two departments through
which it passes, the maximum potential capacity of the assembly is 60 hours and
finishing department is 48 hours. Production of one unit of A requires 4 hours
assembly and 2 hours in finishing. Each unit of B requires 2 hours of assembly and
4 hours in finishing. If the profit is Rs. 80 for A and Rs. 60 For B, formulate LPP to
maximize the profit.

Draw a multiple bar diagram Tor the following data

Religion Population (millions)
1971 - 1981
Hindu ' 82.7 82.6
Muslim 11.2 11 4
Christian 2.6 2.4

Othﬂers | 3.5 3.6
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L. Answerany Six. - (6%6=36)

17. A boatsman goes 96 kms in 8 hours with the flow of a river and return in 12 hours
against the flow. Find the speed of the boat and the river.

18. Solve the resulting quadratic equation using formula, —--5-= =8

- Solve the resulting quadratic equation using formula, -5 715"

19. A train travels a distance of 300 kms, at a constant speed. If the speed of the train
is increased by 5 km/hr, the journey would have taken 2 hours less. Find the speed
of the train.

20. A board of 65 inches long is cut into two pieces. The smaller piece in ! inch longer
than one - third the length of the larger piece. Find the length of the two pieces.

21. Solve the following LPP by graphical method
Maximize : z=3x+4y,

Subject to the constraints, x+2y<10,x+y<6,x20,y>0.

22. Solve the following LPP by the graphical method.
Minimize : z=3000x+2000y
Subject to the constrains,
12x+4y>48
4x+4y=>32
8x+16y =80
x=0,y=20.

23. Draw a pie chart for the following data
Item of Expenditure Amount spent (in Rs.)

Food 3750
Health 1875
Clothing 1875
Education 1200 e
24. Calculate the mode for the following frequency distribution table.

Income(Rs.) [1000-2000 [2000-3000 | 30004000 | 4000-5000 | 5000-6000 | 6000-7000

No. of 15 18 30 17 18 . 22

Workers

[P.T.O.
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23.

26.

Calculate coefficient of Mean deviation (MD

w0

Q)]

distribution table.
X 5 6 7 8 9 10
f 8 2 18 8 2 1

OEMT112

) from median for the following frequency

Goals scored by two teams A and B in football season are as follows,

No. of goals No. of Matéhes
TeamA | Team B
0 22 11
1 8 10
2 7
3 8 7
4 3 4




